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SZMFT R TORMDPVLREREGEVH L, ZIELIIOWT, 7Y — VL RN
HOMEXEHALRDULEDISH D,

~J. BHENORESIETRE LSS TAOOFEBIZGTHT 5 ENTE D,
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]ijmm”AWﬁ(»ﬁdﬁda

/2 .
+3 %5 [ Oloopatda 83

I, 1OBERENCET 2HAS. 208, 308U T2 5 Y AKMT 2.
40EI Y - VEBOE. D% VRERT- FIZL2EECHT AR THE, %
F BB BT,

kxa = \Jerskd — B2 Regionl & II
= —j\/B? —epskd Region III : (84)

ko = /ki—p3? Regionl _
= —ji/B*—Kk§ Regionll & IIT (85)

Eb, TIT. RAFAFFIEMFEGAWMETH LI 5RTnA,

FICHEDILD P DW TN D, (42)(43)(49)(55)(56)(57) &R T@ D, %
THERIILT TE T3 TM O — FRESERADPTERIZE TV 5, £D0,
HUARXOBIHRTMBORIIL S, 20720, BOTIEIZOMORD hVI1ZiE
Brlahid b, —fRIC7 7 - THWAEMRIIMERHTHEEICHEL T3
FILHVEREZEV LD, TEE— FIZoWTIRERIEZ Iy FA 7T TH DI
HAWw (LA LA LErDBLEIESHD), —F TM E— FIZOWTHEHERE— FIZ
DWTIEEIE Ay b A TUT2OTHEE IR L2V, L2l s, TMyE—F
Ay b TIR L VOIIlEILEET S COFE—FPR T2 =X FT7L—=T75+D
AF¥Fy T IAVFFADQRERE R 5,

IT, TME—F, TEE— FOREFEXTH L2, FNETNLOHUTH D,
a WIHERRTH D, Lo T BMOPNIFVIL SIZONTOATIWI £ b,
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AN Re( B ;
O Bo !
C2
C1 R
Bo
BIAFEEO AR

8 | FRIEE D

COBDFEIIRDENIIT ) TMyE—FOED L = Buo WCHET 5 LK
ET D, FITHE, MOBCLIZ B = Bmo DA TRE#MLEFED, 8= BuofTET
WBREPBUTD L IICELS RETENCESE Co 2B 0 EThH, 2D Oy ilown
T, HEBROES T 5 EH:

THH L=y WL DBTH HEE, T

Cr 3IB=,BmO+R€jg
h <0< 60,0<01 -0 <2mr,R> 0
&g hUd,

lim | £(8)dB = j(61 - ) Resf(6) (86)
Cr

R—0
Exb,



9 I HEERSOEEDIE

JE5]

I T, Resf(B)id f(B) DEBFTH N, ROLHITEFEES NS,
BYDEF | 20 DIEHET 20 HH X R (EHTHRILT A0 —5 VEF%
f(z) = ZAn(z —~ z0)" (87)

&’9‘—50 %0);) '6‘ (Z — Zo)m1 @{%;ﬁ%%ﬁtb\'} o
LT OEFRIBEFENIRELRERTHH P, EBIZE

_ f1(?)
f(z) - fQ(Z)
<. fg(z) D20 DFONTTAT-EHATLHE.
fle) =Y B8 oy (58)
Firb, T,
an
2= a;ff
Thb, LT, ZOHEOEEIL
Resf(z) = JLT) (89)
dz 12=22




LoT, (83) ROREDHEFIGESERE (86) XL 1.

1 /2 1 rm/2
()lp=pmoide = —j—~ ; Res(:)|p=pno Fdcx (90)

72 Jo

2.6 BRE—FKF&XOv bPOBEER

A Rp
' © coupling slot
=] »
1
" F 1a
slot

-—— (crp. dp)

\_microstrip line

K10:YA7Ey bLAAE Sy F

- (ers, ds)

BM1O0IRLTWwEENIZATY be Y#EIZIRoTA 7y b LABRORE/ Sy F
LoE—-FEOMEERDZ, TTRYFEIE 71y FLzRATY b & TM) £
FEOBRERD B, HRMEKO Fourler ZRIBLUTO L) 2R SN b,

2 Ji(BR,) .

F(JD) = 27 Ry Jy (BinRp) [ﬁ%ﬂ(ﬁf%) cos? a + lé% P) gin? a} (91)

. 1n P

i Ji(BR) | .
F(J},) = 27 Ry J1(B1nRy) {—2———1_"—[—35(]{(5]%,,) — _ié_%l)_} sin o cos o (92)

1In D
sin &2l 9k [cos kyhg — oS kaha] _s

F(M = 2 ¢ y e atal —jkyyo 93
(May) ko Sin Foha(k2 — K2) (93)

Lo,

[Nl
Do



[P (1) Gy "D F (May)]

1 oo p2m ‘Bn ; ﬁ L
= g, [, 2RAnR )[ﬁlnl 52J1<5Rp>cosza+%}

e "0 8dBda

[jk‘ Z(erp — 1) sin kzldp} sin 2% 9k, [cos kyha — cOS koha)

(7 {7) Eta ™ sinKghq(k2 — K2)

_ L Bin ' 2 J1(BR,) sin? a
= ;r—?/o /0 2w Ry Jy (Bin R )[Bln ﬁQJl(ﬁRp)cos Q+T

jk2(erp — 1) sink,1dy | sin —1'2—& 2kq[cos kyhg — cos kghg) )
X l: Te(]]) 751]]) kI,éLua sin kahfa(k:g — kg) COS(AyyO)ﬁdm@

[F(J7,) Gy T F (May)]

oo 2T 2
= Zglj/ 0 21 Ry J1 (OinRp) {-Tﬁl—nﬁJ{(ﬁRp) + J%Q—pr)} sin a cos &
[} ln —

Jkaky(Erp ~ 1) sinkady sin &% 2k, [cos kyhq — €08 kaha]
T(II)TUI) &52211 sin kaha(kg — k?/)

/Bln ']l(ﬁ]??) :

= . 21 RpJ1( J(BR,) + sin o cos &

5 [ / 1 (B1n By) [ﬁm 70 (OR) + =5

jk ky(&rp — 1) sin k;1dp sin Ezla 9k [cos kyha — cOS kaha)

e MW B4 Bda

T(II)T(H) km2wﬂ sin kqha (k2 — k2) cos(kyyo)Bd(84)
EDe £oT, yo=0. DEDATY bRy FETIIHS L ZIEEI—FEHLC

5 ENbPrb,
KIZEA Y FE-FIZDWTER D, 3. TM, £— FEOBRERD B,

2 2J.
F(JE,) = =727 Ry Jo(B2n Rp) —Q—ﬁ—zn—z—Jé (BRy) cos2acos o + 212(0Ry) sin 2a:sin o
) 13271 - ;B ’BRP
(96)
2 2J
F(J3,) = —j2nRpJa(Ban Ry) —Q—%—Q—J.é(ﬁ]?,p) sin acos2o — 20:(0F;) sin 2a cos o
ﬁQn - ,B 'BRP
(97)

[F(Jl)y)GEAI(II)F(A'[ay)]
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1 o 2w ] 9
- Zl7r§/c, /0 32 Ry Jo(Bon ) {5 ﬁanQ J5(BRyp) cos 20 cos a + ——JQB%R—ZJZ sin 2a sin o
2n D

7k2(erp — 1) sinkz1d, | sin 522 2k, [cos kyha — coskaha] _ix
X JRyYo
{ TN Bl snkho(R— D) Adfda
-0 ‘ (98)

(F(J5,)GEMUD F(M,y)]
2J2(5Rp)
BR,

sin 2¢ cos o

1 o rlm
- 21}3/ / —j2m Ry J2(Bon Rp) [5 52n52 J5(BRp) sin acos2a —
2n

gki(erp — 1) sink;1dp | sin Ezla 9f,[cos kyho — coskaha] ko
{ T D) kewa sin kghq (k2 — k2) e” 7 Bdfda
-0 (99)

COERLY., TMD E— FEBES NV btk b, —H TME, £— FloonT
=

F(J3;) = —j2m RpJa(Ban Rp) [BQanﬁQ J5(BR,) sin 2a cos o —~ ————2J25(gf'p) cos2asin o
(100)
2
FUR) = =i2mity o Bontt) {’_2@“5% (BRp) sin crsin 20 + 202(0F) cos 2a cos o
fBQ'n. = /6 ,BRP

(101)

[F(J8,)GENUD P(Myy)]
1 [ 2 2Jo(BR

= Ei/o /0 —j27 Ry Jo(BonRp) {Bgnﬁg:—ﬁ—?ﬁ(ﬁ]?p) sin 2 cos o — —Q—B(Ji—pﬁ cos 2a sin a}

y [jkg(erp —1)sin kzldp} sin &l 2k [cos kyhg — cos kol

(D)1 ko sin koho (k2 — k2)

e—jkyyoﬁdﬁda

Loz 53 2.0,(BR
- ;/0 /0 ~ 721 RpJ2(BanLlp) {ﬁz 7n52 J?(ﬂRp)Sm 2acosa — —%R—p—) cos 2¢ sin a}
ik2(ery — 1) sinkzdy | sin B2¥e 2k, [cos kyhg — coskghg)] .
% [ T(H)T(H) ﬁ#i sin k l/lLa(ZkQ — kQ; : sin(kyyo)BdBde (102)
m 2 a a Y
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[F(J5,) Gy U F (May))

1 o0 2w 2 2
= 13 /0 /0 —j27 RpJo(BonRp) [?&Lﬁ? Jo(BRyp) sin asin 20 + ;]%(—}i)—]%ﬁ cos 2a: cos a}
on P

e~ 7Fv¥ BdBda

y {jk%(sm —1)sin kzldp} sin 512% 2kq[cos kyhg — coskghy)

g(U)T}T{I) Exlta sin kgho (k2 — k2)
1 oo pmw/2 2
= —2/ / ~j21 RpJo(BonRp) [ﬁ Pin " J5(BR,) sinasin 2« + _‘]f’-ﬁ(_gfp_) cos 2 cos a}
n T
jk2 (€rp — 1) sink,1dp | sin —’—1 2kq[cos kyhg — coskghg) '
% { (DD wau Sin g ha (K2 — K2 sin(kyyo)BdBde (103)
e m a9 a

LoTTMS, T—Fid, A0y FPEHEIA7OA RN v TT7 7 FOH0IIHDE
EIZWEBMES AT, A0y FAYENIIR-TA 7Ly PENBZEIZINEETSHE
ENZOHRAIPLEONRS, '

2.7 EHEER

FIEBOFEHRIIOVWTHRRG,, FEICHWAY #iho/cA 72y MEA~
ATZAAMN) Y TTVTFFDEINT A— 9%%1LTTO§K\H%?4Z7L®E
FBEE LTRBONEEE B2 S, TMP. TMY,. TME. TM. TM§ @
5200~ FTRRLTWS, A0y b EIZ1DOPWS E—F, ¥4 70A M) v
fiﬁ%i IMIERE LCHMA Y 7480 C1EREEL L. #0H% 40 B0 PWS

—FTEBRL TV, JoTEHPWSE~ FOBME hs 12 Ag/40 E LTV 5, wih
M@@HKW&%AM%‘(%%LN%O

BEEDLFERE HHEHRE) £rs = 2.60
FEREDES (FERKE) ds = 0.78 mm
FEEOLFTEE (T7F) £rs = 2.60
FEEOES (T TF) dp = 3.16 mm
AT A RNY) v TNE ws = 2.24dmm(Z,, = 500)
ATy M E L, = 20.0 mm
AWy FE w, = 1.5 mm
ATy bF 71w b yo = 20.0 mm
FIET 1 A 7 4% R, = 32.0 mm
FAXA 7 7k 18.0 mm

K1Y A7y PHAESyFO/INTA=4
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I
-
o

T

Return Loss [dB]
R
o

calculated { r=2.60) ~----
-30} calculated( r=2.64) —
measured = 0------
_40 ’l 1 1 1
1.5 1.54 1.58 1.62 1.66 1.7

Frequency [GHz]
H11:st8EEHEEOLE (RAHER)

1 1ICEHELARSHER EEMELE DREEToTwd, K, STEEN 2 2B T
WA, FOH)L—HBEBEPFEROKFER I SO0, = 260 1ZLAHED
HEE, ERIL Erp = 2.64 E LB EDREMETH 5, €rp = 2.60 DETEETIZFEMN
BEDOHTRIKEEY 7 bR NDED, gp =264 EFTHTEIZL ) ZOREEEY 7
KA roTWwh, TOBRROVEDE LTI, ERIERBLZFEFAORFTER
K IOTEERRBIENEI LN,

F £ FERICEATICE W Fortran 72 Y S ARBT LT, BAMLRETENS
DHIZFLESTBREBEN/V,



3 BRARHITI(X 874 71 k MSA)

coupling slot

)
e

patch slot

~—— (erp. dp)

~—— (ers. ds)

\Umicrostrip line

K12 :XF7%y FLHE Sy F

FKIZATy PExIZBoTAT7 Y PLAHE (M1 2)I220WT, #FRZIF 2~

bo BRI 2ETHARIS DL IZIZA—TH Y, W—RL2HEMAET 1 A7 kic
FRSNEE— FFRLEDIETHL [12][13]e 2ED 2. 6EHERBOHEZTH &

FRE N B E— NI,

TMD, TME,, -+ TMbyy e

in:
Tﬂﬁm,Tﬂﬁ;,-UTMJ&NM,~W
E b, FHHRE-FIy#HA 7y POBESERAETH LD, BRAE— F yH
FT7E Y POBEDE- FIERTLE— FAREEENL I &Ik 5,
B RUERICEWA T YT F0O18T A =5 2K 2R T, I CLRIERE erp =
260 >262ELTw5D, M1 3ICEFDHERERT, MAIZIIZ-HLTWD I &b
Mh, MIEBEREOHEF LY, 707 20HEHHEAIRI NI,




FRADLHBE (8 BHTE) ere = 2.60
FEEADES FRERE) ds = 0.78 mm
FEEOLFER (T 77) £rs = 2.60
HEEOES (T T ) dp = 3.16 mm
Y470 R v TG ws = 2.2dmm(Zy, = 5002)
gy M Ly = 25.0 mm
Ay ME w, = 1.5 mm
Ay bAT7Lv |k zo =-20.0 mm
MET 1 A7 $4E Rp = 32.0 mm
FA Y 7TE 24.5 mm
K2 XF Tty FHERNyFOINT A—2
0 T T T —
_—1o0l
m
R
7
S -20] ¥
£ Y
5 v
2
<
-30¢ calculated { r=2.62) —
measured  __.___
-40 \ . L ,
1.5 1.54 1.58 1.62 1.66 1.7

Frequency [GHZ]
K13 :EtEEELEEBOLE (KEHEE, X-offset)

4 F&£8

Ay MEEIAZ7OAN) v T T FFORFELTARY MVEREEEIZOWT
ERfb Tl & LTk &oitﬁﬁﬁﬁﬁmtbf\xm&wy%~lﬂ/btﬁ
7y LB EDOHEEICOWTEELTY, EMELOLRETo72, FORKE.
WHEED B ERE2 B, AUE— MIBOTRLZERALIR—FHETIZH B
EXELRDBLOTHY), COFENZEHLTER2 SHEATY MEETA70R
MY T T T [12]13] R ENDIIRGEL TH L, EASEEERERUHEZTT
Doz, AN P VEBEIERT V-7 T FOBIICLERTAI AT
&5, HRT L —~OIERS FFM L (ERFES) — (ERERK) L2570 THD,
BRI ERES ME IR 5, ERT V-7 7 7 OFITICET 5 B30 [5)[6](14](15)
bFETTBLOT, HEEPHoomAizizslB sy,
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Fortran source 70 77 L& LT,
-yoff__lp. f
-besjt. f
-tledec. 1

TRt A, Co9b, yof {__1p. &
AL T7aT T A
YT —F v swave | REK T My E— FOBERDDLF TV —F
(Newton #iz FHV T\ 5)
¥ 7N —F v expansl : B/ Sy F L0 TMP . TM{ %KD 247V —F >
YTV —F expans2 : /Sy F O TME . TMS %#RKDDY TN —F
YT —F > expans3 : A Sy F LD TME | TMS 2 KDH2H TN —F
¥ 7V —F ~ expansd . /v F LD TM, . TM] %KD 2% T V—F

POBEREND, —F. besjt.f. tlede.fizZh £ Bessel A KD EF TV —F

BHEHROES ~XABREFHEEELTHWTHET AT TV —-F 2 THY), ThEThE
ELEDDTHD, TNEDOF T N—F VX IMSL %2 EOBEFOF TV —F v TEE
Bz THH-oTHEDLR W,

AL TATTAIDONVT, $LRRTBLE, 2OTOTITATELALEREE
BICBDEIIIHTR TR, Ebbhén) b FHHEOFET 0 eHERE
WEBRAAEDOTHY ., FOLHAATOT I APFEFICEL >THBY., HFi
W o TWAZ ERENTHL, 7o, BERS TO—FEML O KAEUDE D,

(F7) = = (Ba%uE) x (iHfR)

EWIEME L TWVAE, The—KdbAVIREROAEUEZHCTEHEOBE S ZEITS
ENTEETH D, LALEAE, THICIHEEERO T —UETHY, T 7-HEH
AOREBICHRTHYED» L2 DPDPLETHEINHEENLL RS 2o DT,
KLB— FTIER TV,

INnA, BEBTOZOTO ST APHBRTRERETH L, KEITIZERTF
N, IDEPTVHIVIZLNEEOSWTO S I AL THITNEEVTH S,
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Mar 15 1995 18:22:38 yoff_lp.f Page 1]
l1c U4 EH#4444 FILE_NAME YOFF_LP.F #####n###44
2 c P L T L L L e S T T
3 ¢ = PROGRAM for MICROSTRIP LINE FED SLOT COUPLED =
4 ¢ = CIRCULAR PATCH ANTENNA. =
5 ¢ = using SPECTRUM DOMAIN MOMENT METHOD =
6 c = (epsrs > epsrp) = 4
7 c = yoffset case =
8 ¢ e =
9 ¢ = programmed by | Yasushi Murakami | = )
10 ¢ = | e e = LY
11 ¢ = first ed. 1992. 4. 23 =
12 ¢ P T T S T - T e N Y e T
13 ¢ e b b o o o o SR SR o R S S R R o o o R R R R S
14 ¢ + epsrs : relative permittivity of feed substrate +
15 ¢ + epsrp : relative permittivity of patch substrate +
16 ¢ + ds : feed side substrate thickness +
17 ¢ + dp : patch side substrate thickness +
18 ¢ + wa : slot width +
19 ¢ + ala : slot length +
20 ¢ + rad : circular patch radius +
21 ¢ N R L T b S o e A SO WSS S S o AR
22 € mm e e e e e
23 ¢ - ak0 : wave number in free space -
24 ¢ - aks : wave number in the feed side substrate -
25 ¢ ~ akr : wave number in the patch side substrate -
26 ¢ - ake : effective wave number in the line -
27 ¢ - aka : effective wave number in the aperture -
28 ¢ - z0 : characteristic impedance in free space -
29 ¢ - ha : segment length of aperture -
30 € e e e
31 ¢
32 program mscC
33 parameter (nn=49,n=6,na=1l,ns=40)
34 implicit double complex (c)
35 implicit double precision (a,b,d-h,o-y)
36 character mode(n) *6
37 dimension ca({nn,nn),cb(nn),cc(nn), zbes(0:10)
38 ¢
39 data mode/'TM1lp:’, 'TM12p:’, ‘TM31lp:’,
40 & 'TM21lo:', '"TM4dlo: ', ‘VX 2/
41 ¢
42 do i=1l,nn
43 do j=1,nn
44 ca(i,3)=(0.0d40,0.0d40)
45 enddo
16 enddo
47 do i=1,nn
418 cb(i)=(0.0d0,0.0d0)
49 cc(i)=(0.0d0,0.0d0)
50 enddo
51 ¢
52 pi=2.0d40*asin(1.0) 1 pi=3.1415926
53 ac0=0.2998d0 ! light velocity
54 eps=1.0d-15
55 cj={0.0d40,1.0d0) ! complex unit
56 mm=ns+n
57 ¢
58 epsrp=2.60d40 !dielctric constant(line)
59 epsrs=2.60d0 Idielctric constant (patch)
60 ¢
61 ds=0.804-3 Isubstrate thickness(line) ~
62 dp=3.204-3 !substrate thickness(patch)
63 ws=2.2548-3 Imicrostrip width (unit:m)
64 wa=1.5d-3 Islot width (unit:m)
65 ala=20.0d4-3 Islot length (unit:m) .
66 ¢

32



Mar 15 1995 18:22:38 yoff_Ip.f Page 2 |

67 rad=32.0d-3 !patch radius (unit:m)

68 y0=20.0d-3 toffset in y-direction(unit:m)
.69 stub=18.0d4-3 topen stub length (unit:m)
70 ¢

71 fre=1.585d0 !frequency(unit:GHz)

72 ¢

73 epse=0.5d0* (epsrs+1.0d0)+0.5d0* (epsrs-1.0d0)

74 & /dsqrt (1.040+12.0*ds/ws) teffective dielectric const.
75 ak0=2,0d0*pi*fre/acO ! wavenumber in free space
76 aks=dsqrt(epsrs) *ak0 ! wavenumber in line subst.
77 akr=dsqrt (epsrp) *ak0 ! wavenumber in patch subst.
78 ake=dsqrt (epse) *ak0 ! propagat. const. in MSL
79 aka=dsqrt(0.5d0* (epsrs+epsrp) ) *ak0 ! wavenumber in slot
80 z0=120.0d0*pi 1120*pi

81l ¢

82 ha=ala/ (na+l) | segment length(slot)

83 hf=0.04d0*ac0/fre/dsqgrt (epse) ! segment length(line)

84 ¢

85 irl=200 !division no. in regin 1 and 2

86 1r2=1500 'division no. in regin 3-1

87 1xr3=1200 !division no. in regin 3-2

88 1t=90 'division no. of alpha

89 ¢

90 btll=1.8412d0/rad

91 call besjt(1.8412e0,zbes,9,ind)

92 bja=dble(zbes (1)) leigenvalue of TM11

93 ¢

94 bt21=3.0542d0/rad

95 call besjt(3.0542e0, zbes, 9, ind)

96 bjb=dble{zbes(2)) leigenvalue of TM21

97 ¢

98 bt31=4.201240/rad

99 call besjt(4.2012e0,zbes, 9, ind)
100 bje=dble(zbes(3)) leigenvalue of TM31
101 ¢
102 bt12=5.3314d0/rad
103 call besjt({5.3314e0,zbes, 9, ind)
104 bjc=dble{zbes (1)) leigenvalue of TM12
105 ¢
106 btd1=5.3176d0/rad
107 call besjt(5.3176e0, zbes,9,ind)
108 bjd=dble(zbes(4}) leigenvalue of TM41l
109 ¢
110 rint=ak0/irl
111 tint=0.5d0*pi/it
112 rr=0.5d0*rint
113 ma=ns+1
114 ¢
115 ¢ ===== Integral in the first region =====
116 do 1 i=1,irl
117 area=rr*rint*tint
118 tt=0.5d40*tint
119 do 2 j=1,it
120 akx=rr*dcos(tt}
121 aky=rr*dsin{tt)
122 akzl=dsgrt (aks*aks-rr*rr)
123 akz3=dsqrt (akr*akr-rr*rr)
124 akz2=dsgrt (ak0*ak0-rr*rr)
125 fys=2.0d0*dsin(0.5d0*aky*ws} / {aky*ws)
126 fx5=2.040*dsin(0.5d0*akx*ws) / (akx*ws)
127 fya=2.0d40*dsin(0.5d0*aky*wa) / (aky*wa)
128 fxa=2.0d0*dsin(0.5d0*akx*wa) / {akx*wa)
129 ctes=akzl*dcos(akzl*ds)+cj*akz2*dsin(akzl*ds)
130 ctep=akz3*dcos (akz3*dp)+cj*akz2*dsin(akz3*dp)
131 ctms=epsrs*akz2*dcos (akzl*ds)+cj*akzl*dsin(akzl*ds)
132 ctmp=epsrp*akz2*dcos (akz3*dp) +cj*akz3*dsin(akz3*dp)
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133
134
135
- 136
137
138
139
140
141
142
143
144
145
146
147
148
149
150

- green’s function for strip (x) to strip (x) ~-----
cfgsl=(aks*aks-akx*akx) *akz2*dcos (akzl*ds)

+cj* (ak0*ak0-akx*akx) *akzl*dsin{akzl*ds)
cgsxx=-cj*z0*cfgsl*dsin{akzl*ds)/(ak0*ctes*ctms)
green's function for slot(y) to strip (x}) ----- . 7
cfgs2=cj*akx*akx* {epsrs-1.0d0) *dsin{akzl*ds) / (ctes*ctms)
cfgs3=akzl/ctes
cgsxy=cfgs2-cfgs3

green’s function for slot{y) to slot(y) ~----
cgsyl=akzl*dcos(akzl*ds)+cj*epsrs*akz2*dsin(akzl*ds)
cgsy2=(aks*aks-aky*aky)/ (akzl*ctms)
cgsy3=aky*aky*akzl* (epsrs-1.0d0)/ctes/ctms
cgpyl=akz3*dcos(akz3*dp)+cj*epsrp*akz2*dsin(akz3*dp)
cgpy2=(akr*akr-aky*aky) / (akz3*ctmp)
cgpy3=aky*aky*akz3* (epsrp-1.0d0) /ctep/ctmp
cghmyy=-(cgsyl*cgsy2-cgsy3+cgpyl*cgpy2-cgpy3 )/ (ak0*z0)

- green’s function for patch (X) to patch (X) ~----
cfgpl={akr*akr-akx*akx) *akz2*dcos (akz3*dp)

+cj* (ak0*ak0-akx*akx) *akz3*dsin(akz3*dp)
cgejxx=~cj*z0*cfgpl*dsin(akz3*dp)/ (akO*ctep*ctmp)
- green‘’s function for patch (Y) to patch (Y} -----
cfgp2={akr*akr-aky*aky) *akz2*dcos (akz3*dp)

+cj* (ak0*ak0-aky*aky) *akz3*dsin(akz3*dp)
cgejyy=-cj*z0*cfgp2*dsin(akz3*dp)/ (ak0*ctep*ctmp)
- green’s function for patch(X) to patch(Y) -----
cfgp3=akz2*dcos({akz3*dp)+cj*akz3*dsin(akz3*dp)
cgejxy=cj*z0*akx*aky*cfgp3*dsin(akz3+*dp)/ (akO*ctep*ctmp)

green’s function for slot(y) to patch (x) -----
cfgpd=cj*akx*akx* (epsrp-1.0d0) *dsin(akz3*dp)/(ctep*ctmp)
cfgpS5=akz3/ctep

cgemxy=cfgpd-cfgps

green’s function for slot(y) to patch (y) -----
cgemyy=cj*akx*aky* (epsrp-1.040) *dsin(akz3*dp)/ (ctep*ctmp)

- Piecewise sinusoidal mode ~----~
£0=2.0d0*ake* {dcos (ake*hf)-dcos {akx*hf})

/ {akx*akx-ake*ake) /dsin(ake*hf)
fay=2.0d0*aka* (dcos{aka*ha)-dcos(aky*ha))

/ (aky*aky-aka*aka) /dsin(aka*ha)
call expansl(rad,btll,rr,tt,bja,pi, fxpll, fypll, fxoll, fyoll)
call expansl(rad,btl2,rr,tt,bjc,pi, fxpl2, fypl2, fxol2, fyol2)
call expans2(rad,bt2l,rr,tt,bjb,pi, fxp2l, fyp2l, fxo021, fyo2l)
call expans3(rad,bt3l,rr,tt,bje,pi, fxp31, fyp31l,fxo31l, fyo31l)
call expansd(rad,btdl,rr,tt,bjd,pi, fxpdl, fyp4dl, fxodl, fyodl)

cgal=fxpll*fxpll*cgejxx+2.0d0*fxpll*fypll*cgejxy

+fypll*fypll*cgejyy
cgal=fxpl2*fxpl2*cgejxx+2.040*fxpl2*fypl2*cgejxy
+fypl2*fypl2*cgejyy
cgald=fxpll*fxpl2*cgejxx+(fxpll*fypl2+fxpl2*fypll) *cgejxy
+fypll*fypl2*cgelyy
cgbl=fx021*fx02l*cgejxx+2.0d40*fx021*fyo2l*cgejxy
+fyvo2l*fyo2l*cgejyy
cgb2=fxo4l*fxodl*cgejxx+2.0d0*fx0d1l*fyodl*cgejxy
+fyodl*fyodl*cgejyy -
cgb3=fxo2l1*fxodl*cgejxx+ (fx021*fyodl+fxodl*fyo2l) *cgejxy
+fyo2l*fyodl*cgeiyy ]
cgcl=fxp3l*fxp3l*cgejxx*2.040*fxp3l*fyp3l*cgejxy "
+fyp3l*fyp3l*cgeijyy
cge2=fxpll*fxp3l*cgejxx+(fxpll*fyp3l+fxp3l*fypll) *cgejxy
+fypll*fyp3l*cgejvy .

cgcl3=fxp3l*fxpl2*cgejxx+ (fxp31*fypl2+£fxpl2*fyp3l) *cgejxy
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199 & +fyp3l*fypl2*cgejyy
200
201 ca( 1, 1l)=ca( 1, l)+cgal*area
202 ca( 2, 2)=cal 2, 2)+cgal*area
203 ca{ 1, 2)=ca{ 1, 2)+cgal3*area
204 ca( 3, 3)=ca( 3, 3)+cgcl*area
205 ca( 1, 3)=ca( 1, 3)+cgc2*area
206 ca{ 2, 3)=ca{ 2, 3)+cgc3*area
207 cal{ 4, 4)=ca( 4, 4)+cgbl*area
208 ca( 5, S5)=ca( 5, 5)+cgb2*area
209 ca( 4, S5)=ca( 4, 5)+cgb3*area
210 ca( 6, 6)=ca({ 6, 6)+fxa*fxa*fay*fay*cghmyy*area
211
212 ca(l,6)=cal(l,6)+fxa*fay* (cgemxy*fxpll+cgemyy*fypll)
213 & *dcos (aky*y0) *area
214 ca(2,6)=ca(2,6)+fxa*fay* (cgemxy*fxpl2+cgemyy*fypl2)
215 & *dcos (aky*y0) *area
216 ca(3,6)=cal(3,6)+fxa*fay* (cgemxy*fxp3l+cgemyy*fyp31l)
217 & *dcos (aky*y0) *area
218 ca(d,6)=ca(4d,6)-fxa*fay* (cgemxy*fxo2l+cgemyy*£fyo2l)
219 & *dsin(aky*y0) *area
220 ca(5,6)=cal(5,6)-fxa*fay* (cgemxy*fxodl+cgemyy*fyodl)
221 & *dsin(aky*y0) *area
222
223 do 101 k=1,ns
224 xm=(k-1)}*hf
225 xn=stub- (ns-k+1) *hf
226 ca{n+k,n+l)=ca(n+k,n+l) +fys*fys*f0*£0*cgsxx
227 & *dcos (akx*xm) *area
228 ca(6,n+k)=ca(6,n+k)-fys*f0*fxa*fay*cgsxy
229 & *dcos (akx*xn) *area
230 101 continue
231
232 tt=tt+tint
233 2 continue
234 rr=rr+rint
235 1 continue
236 print *,’ Integral 1 finished.’
237
238 call swave(epsrs,ak0,ds,poles,inds)
239 if(inds.ne.0) go to 91
240 print *,’ (poles/ak0) = ’,poles/akQ
241 91 call swave({epsrp,ak0,dp,polep, indp)
242 if(indp.ne.0) go to 92
243 print *, (polep/ak0) = ‘,polep/ak0
244
245 92 continue
246 .
247 ======= Integral in the second region (2-1) =======
248 tint=0.5d0*pi/it
249 rint=(akr-ak0)/irl
250 rr=ak0+0.5d0*rint
251 do 3 i=1,irl
252 area=srr*rint*tint
253 tt=0.5d0*tint
254 akzl=dsagrt(aks*aks-rr*rr)
255 akz3=dsqrt(akr*akr-rr*rr)
256 akz2=dsqgrt(rr*rr-ak0*ak0)
257 do 4 j=1,1it
258 akx=rr*dcos(tt)
259 aky=rr*dsin(tt)
260
261 fxa=2.0d0*dsin{(0.5d0*akx*wa) / (akx*wa)
262 fya=2.0d0*dsin{0.5d0*aky*wa) / {aky*wa)
263 fys=2.0d0*dsin{0.5d0*aky*ws) / (aky*ws)
264 fx$=2.0d40*dsin(0.5d0*akx*ws) / (akx*ws)
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tes=akzl*dcos (akzl*ds)+akz2*dsin{akz1l*ds)
tep=akz3*dcos (akz3*dp) +akz2*dsin(akz3*dp)
tms=epsrs*akz2*dcos (akzl*ds)-akzl*dsin(akzl*ds)
tmp=epsrp*akz2*dcos({akz3*dp) ~akz3*dsin(akz3*dp)

---- green’s function for strip(x) to strip(x) -------

fgsl=(aks*aks-akx*akx) *akz2*dcos (akzl*ds)
- ({akO*ak0-akx*akx) *akzl*dsin(akz1l*ds)
cgsxx=-cj*z0*fgsl*dsin(akzl*ds)/(akO*tes*tms)

~---~ green’s function for slot(y) to strip(x) -------

fgs2=-akx*akx* (epsrs~1.0d40)*dsin(akzl*ds)/tes/tms
fgs3=-akzl/tes
gsxy=£fgs2+£fgs3

---- green’s function for slot(y) to slot{y) -------

gsyl=akzl*dcos (akzl*ds)+epsrs*akz2*dsin(akzl*ds)
gsy2={(aks*aks-aky*aky)/ (akzl*tms)
gsy3=aky*aky*akzl* (epsrs-1.0d0) /tes/tms
gpyl=akz3*dcos (akz3*dp) +epsrp*akz2*dsin (akz3*dp)
gpy2={akr*akr-aky*aky)/ (akz3*tmp)
gpy3=aky*aky*akz3* (epsrp-1.0d0) /tep/tmp
cghmyy=-cj* (gsyl*gsy2-gsy3+gpyl*gpy2-gpy3)/(ak0*z0)

--- green’s function for patch(x) to patch{x) -------
fgpl=(akr*akr-akx*akx) *akz2*dcos (akz3*dp)

- (ak0*ak0-akx*akx) *akz3*dsin(akz3*dp)
cgejxx=-cj*z0*fgpl*dsin{akz3*dp)/ (akO*tep*tmp)
--- green's function for patch(y) to patchly) -------
fgp2=(akr*akr-aky*aky) *akz2*dcos (akz3*dp)

- (ak0*ak0O-aky*aky) *akz3*dsin(akz3*dp)
cgejyy=-cj*z0*fgp2*dsin{akz3*dp)/ (akO*tep*tmp)
--- green’s function for patch(x) to patch{y) -------
fgp3=akz2*dcos (akz3*dp)-akz3*dsin(akz3*dp)
cgejxy=cj*z0*akx*aky*fgp3*dsin{akz3*dp)/(akO*tep*tmp)

--- green’s function for slot(y) to patch{x) -------
fgpl=-akx*akx* (epsrp-1.0d0) *dsin(akz3*dp) /tep/tmp
fgp2=-akz3/tep

gemxy=£fgpl+Igp2

-~-- green’s function for slot(y) to patchi{y) -------
gemyy=-akx*aky?* (epsrp-1.0d0) *dsin({akz3*dp)/tep/tmp

---- Piecewise sinusoidal modes -------
fay=2.0d0*aka* (dcos (aka*ha)-dcos (aky*ha))

/ (aky*aky-aka*aka) /dsin(aka*ha)
f0=2.0d0*ake* (dcos (ake*hf)-dcos (akx*hf))

/ (akx*akx-ake*ake) /dsin(ake*hf)
call expansl(rad,btll,rr,tt,bja,pi, fxpll, fypll, fxoll, fyoll)
call expansl(rad,btl2,rr,tt,bjc,pi, fxpl2, fypl2, fx0l2, fyol2)
call expans2(rad,bt2l,rr,tt,bjb,pi, fxp2l, fyp2l, fxo02l, fyo2l)
call expans3(rad,bt3l,rr,tt,bje,pi, fxp31, fyp3l, fxo31, fyo31)
call expansd(rad,btdl,rr,tt,bjd,pi, £xpdl, fypdl, fxodl, fyodl)

cgal=fxpll*fxpll*cgejxx+2.0d0*fxpll*fypll*cgejxy

+fypll*fypll*cgejyy
cga2=£fxpl2*fxpl2*cgejxx+2.0d0*fxpl2*fypl2*cgejxy
+fypl2*fypl2*cgejyy
cgal3=fxpll*fxpl2*cgejxx+ (fxpll*fypl2+fxpl2=fypll) *cgejxy
+fypll*fypl2*cgejyy
cgbl=fx021*fxo02l*cgejxx+2.04d0*fx021*fyo2l*cgejxy
+fyo2l1*fyo2l*cgejyy
cgb2=fxod4l*fxodl*cgejxx+2.040*fxodl*fyodl*cgejxy
+fyodl*fyodl*cgejyy
cgbl3=£fxo021l*fxodl*cgejxx+(fxo021*fyodl+fxodl*fyo2l) *cgejxy
+fyo2l1*fyodl*cgejyy

cgcl=fxp3l*fxp3l*cgeixx+2.0d0*£xp31*fyp3l*cgejxy
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102

&

&

&

+fyp31l*fyp3l*cgejyy
cgc2=fxpll*fxp3l*cgejxx+{fxpll*fyp3l+fxp3l*fypll)*cgejxy
+fypll*fyp3l*cgejyy
cgcl3=fxp3l*fxpl2*cgejxx+ (fxp31l*fypl2+fxpl2*fyp3l) *cgejxy
+fyp3l*fypl2*cgejyy

1)+cgal*area

2)+cgal*area

2)+cgald*area

3)+cgcl*area

3)+cgc2*area

3)+cgecl3*area

4)+cgbl*area .
5)+cgb2*area

5)+cgb3*area

6)+fxa*fxa*fay*fay*cghmyy*area

ca(
ca
ca
ca(
ca(
cal
cal
cal
cal
cal

0O00a

AUTUIID WW W N
O S O | S T
Qa0 0aaan

IR VI L T TR T ]
AAUTUIIB N W RN

AB U W N

ca(l,6)=ca(l,6)+fxa*fay* {gemxy*fxpll+gemyy*fypll)
*dcos (aky*y0Q) *area

ca(2,6)=ca(2,6)+fxa*fay* (gemxy*fxpl2+gemyy*£fypl2)
*dcos (aky*y0) *area

ca(3,6)=ca(3,6)+fxa*fay* {(gemxy*£fxp3l+gemyy*fyp31l)
*dcos (aky*y0) *area

ca(d,6)=ca(4,6)-fxa*fay* (gemxy*fxo2l+gemyy*£fyo2l)
*dsin(aky*y0Q) *area

ca(5,6)=ca(b,6)-fxa*fay* (gemxy*fxodl+gemyy*£fyodl)
*dsin(aky*y0) *area

do 102 k=1,ns
xm=(k-1) *hf
xn=stub-~ (ns-k+1)*ht
ca(n+k,n+l)=ca(n+k,n+1)+fys*fys*f0*f0*cgsxx
*dcos (akx*xm) *area
ca(6,n+k)=ca(6,n+k)-fys*f0*fxa*fay*gsxy
*dcos (akx*xn) *area
continue

tt=tt+tint
continue
rr=rr+rint
continue
print *,’ Integral 2-1 finished.’

if (epsrs.eqg.epsrp) go to 96
======= Integral in the second region (2-2) =======
tint=0.5d0*pi/it
rint=(aks-akr)/irl
rr=akr+0.5d0*rint
do 5 i=1,irl
area=rr*rint*tint
tt=0.5d0*tint
akzl=dsqgrt (aks*aks-rr*rr)
akz3=dsqgrt (rr*rr-akr*akr)
akz2=dsqrt (rr*rr-ak0*ak0)
do 6 j=1,1it
akx=rr*dcos(tt)
aky=rr*dsin(tt)

fxa=2.0d0*dsin(0.5d0*akx*wa)/ (akx*wa)
fya=2.040*dsin(0.5d0*aky*wa) / (aky*wa)
fys=2.040*dsin{0.5d0*aky*ws) / {aky*ws)
fxs=2.040*dsin(0.5d0*akx*ws) / (akx*ws)
tes=akzl*dcos {(akzl*ds)+akz2*dsin(akzl*ds)
tep=akz3*dcosh(akz3*dp)+akz2*dsinh{akz3*dp)
tms=epsrs*akz2*dcos(akzl*ds)-akzl*dsin(akzl*ds)
tmp=epsrp*akz2*dcosh{akz3*dp)+akz3*dsinh(akz3*dp)
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---- green’s function for strip(x

) to strip(x) -------
fgsl={aks*aks-akx*akx) *akz2*dcos (akzl*ds)
- (ak0*ak0-akx*akx) *akzl*dsin{akzl*ds)
cgsxx=-cj*z0*fgsl*dsin(akzl*ds)/ (akO*tes*tms)

---~ green’'s function for slot(y) to strip(x) -------

fgs2=-akx*akx* (epsrs-1.0d0) *dsin{akzl*ds)/tes/tms
fgs3=-akzl/tes
gsxy=fgs2+£fgs3

---- green's function for slot{y) to slotl(y) -------

gsyl=akzl*dcos (akzl*ds ) +epsrs*akz2*dsin(akzl*ds)
gsy2=(aks*aks-aky*aky) / (akzl*tms)
gsy3=aky*aky*akzl* (epsrs-1.0d40)/tes/tms
gpyl=akz3*dcosh(akz3*dp)+epsrp*akz2*dsinh (akz3*dp)
gpy2={akr*akr-aky*aky) / (akz3*tmp)
gpy3=aky*aky*akz3* (epsrp-1.0d0)/tep/tmp
cghmyy=-cj* (gsyl*gsy2-gsy3+gpyl*gpy2~gpy3)/ (ak0*z0)

-- green’'s function for patch(x) to patch(x) -----

fgpl=(akr*akr-akx*akx)*akz2*dcosh{akz3*dp)
+(ak0*ak0-akx*akx) *akz3*dsinh (akz3*dp)
cgejxx=-cj*z0*fgpl*dsinh(akz3*dp)/ (akO*tep*tmp)

-- green’s function for patch(y) to patchiy) -----

fgp2=(akr*akr-aky*aky) *akz2*dcosh (akz3*dp)
+({ak0*akO0-aky*aky) *akz3*dsinh({akz3*dp)
cgejyy=-cj*z0*fgp2*dsinh(akz3*dp)/(akO*tep*tmp)

-- green’s function for patch(x) to patch(x) -----

fgp3=akz2*dcosh(akz3*dp) +akz3*dsinh(akz3*dp)
cgejxy=cj*z0*akx*aky*fgp3*dsinh(akz3*dp)/ (akO*tep*tmp)

---- green’'s function for slot(y) to patch{(x) -------

fgpl=-akx*akx* (epsrp-1.0d40)*dsinh(akz3*dp)/tep/tmp
fgp2=-akz3/tep
gemxy=fgpl+fgp2

---- green'’s function for slot(y) to patch(y) -------

gemyy=-akx*aky* (epsrp-1.0d40) *dsinh(akz3*dp) /tep/tmp

-- Piecewise sinusoidal modes -----
fay=2.0d0*aka* (dcos (aka*ha)-dcos (aky*ha))

/ (aky*aky-aka*aka) /dsin(aka*ha)
f0x=2.0d0*ake* (dcos (ake*hf)-dcos (akx*hf))

/ (akx*akx-ake*ake) /dsin(ake*hf)
call expansl(rad,btll,rr,tt,bja,pi,fxpll, fypll, fxoll, fyoll)
call expansl(rad,btl2,rr,tt,bjc,pi,fxpl2, fypl2,fxo0l2, fyol2)
call expans2(rad,bt2l,rr,tt,bjb,pi, fxp21, fyp21, £xo21, fyo21)
call expans3(rad,bt3l,rr,tt,bje,pi, fxp31, fyp31, fxo3l, fyo31l)
call expansd(rad,btdl,rr,tt,bjd,pi, fxp4dl, fyp4l, £xo4dl, fyodl)

cgal=fxpll*fxpll*cgejxx+2.0d0*fxpll*fypll*cgejxy

+fypll*fypll*cgejvy

cgal=fxpl2*fxpl2*cgejxx+2.040*fxpl2*fypl2*cgejxy
+fypl2*fypl2*cgejyy

cgal3=fxpll*fxpl2*cgejxx+ (fxpll*fypl2+£fxpl2*fypll) *cgejxy
+fypll*fypl2*cgeiyy

cgbl=fxo2l*fxo2l*cgejxx+2.0d0*fx02l*fyo2l*cgejxy
+fyo2l*fyo2l*cgejyy

cgb2=£fxod41*fxo4l*cgejxx+2.040*fxodl*fyodl*cgeixy
+fyodl*fyodl*cgejyy

cgb3=£fx021*fxodl*cgejxx+ (fxo021*fyod4l+fxodl*fyo2l) *cgejxy
+fyo2l*fyodl*rcgeiyy

cgel=£fxp3l*fxp3l*cgejxx+2.0d0*fxp3l*fyp3lrcgejxy
+fyp31*fyp3l*cgejyy

cgc2=£fxpll*fxp3l*cgejxx+ (fxpll*fyp3l+fxp31l*fypll) *cgejxy
+fypll*fyp3l*cgeiyy

cgc3=fxp3l*fxpl2*cgejxx+ (fxp3l*fypl2+fxpl2*fyp3l) *cgejxy
38
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103

&

+fyp3l*fypl2*cgejyy
cal{ 1, l)=ca{ 1, l)+cgal*area
ca( 2, 2)=ca{ 2, 2)+cgal*area
ca( 1, 2)=ca( 1, 2)+cga3*area
ca{ 3, 3)=cal( 3, 3)+cgcl*area
ca( 1, 3)=ca{ 1, 3)+cgcl2*area
ca( 2, 3)=ca( 2, 3)+cgc3*area
cal 4, 4)=ca( 4, 4)+cgbl*area
ca( 5, S)=ca( 5, S)+cgb2*area
ca( 4, 5)=ca{ 4, 5)+cgb3*area
ca{ 6, 6)=ca{ 6, 6)+fxa*fxa*fay*fay*cghmyy*area
ca{l,6)=ca(l,6)+fxa*fay* (gemxy*fxpll+gemyy*fypll)
*dcos (aky*y0) *area
ca{2,6)=cal(2,6)+fxa*fay* (gemxy*fxpl2+gemyy*fypl2)
*dcos (aky*y0Q) *area
ca{3,6)=ca(3,6)+fxa*fay* (gemxy*fxp3l+gemyy*fyp3l)
*dcos (aky*y0) *area
ca(d4,6)=ca(4,6)-fxa*fay* (gemxy*fxo2l+gemyy*£fyo2l)
*dsin(aky*y0) *area
ca(5,6)=cal(5,6)-fxa*fay* (gemxy*fxodl+gemyy*fyodl)
*dsin(aky*y0) *area
do 103 k=1,ns
xm=(k~-1)*hf
xn=stub-(ns-k+1)*hf
ca{n+k,n+l)=ca({n+k,n+l)+fys*fys*fOx*f0x*cgsxx
*dcos {akx*xm) *area
ca(6,n+k)=ca(6,n+k)-fys*fOx*fxa*fay*gsxy
*dcos (akx*xn) *area
continue
tt=tt+tint
continue
rr=rr+rint
continue

print *,’ Integral 2-2 finished.’

continue

===== Integral surface wave pole resisitance(strip side) =====
if(inds.ne.0) go to 99
tt=0.5d0*tint
rr=poles
akzl=dsqrt(aks*aks-rr*rr)
akz2=dsqrt(rr*rr-ak0*ak0}
area=rr*tint
do 11 j=1,it
akx=rr*dcos(tt)
aky=rr*dsin(tt)
fxa=2.0d0*dsin(0.5d0*akx*wa) / (akx*wa)
fya=2.0d0*dsin(0.5d0*aky*wa) / (aky*wa)
fys=2.040*dsin(0.5d0*aky*ws) / (aky*ws)
fxs=2.040*dsin(0.5d0*akx*ws) / (akx*ws)
tes=akzl*dcos (akzl*ds)+akz2*dsin(akzl*ds)
tms=epsrs*rr*dcos (akzl*ds) /akz2
+(epsrs*akz2*ds*dsin({akzl*ds)+dsin(akzl*ds)
+akzl*ds*dcos (akzl*ds))
*rr/akzl
——————— green‘s function for strip(x) to strip(x} -------
fgsl=(aks*aks-akx*akx) *akz2*dcos(akzl*ds)
+(ak0*akO-akx*akx) *akzl*dsin(akzl*ds)
cgsxx=-cj*z0*fgsl*dsin(akzl*ds)/(akO*tes*tms)
——————— green’s function for slot{y) to strip(x) -------
fgs2=-akx*akx* (epsrs-1.040) *dsin{akzl*ds)/tes/tms
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529

594

104

fgs3=-akzl/tes
gsxy=£fgs2+fgs3

————— green’s function for slot(x) to slot({x) -----
gsyl=akzl*dcos(akzl*ds)+epsrs*akz2*dsin(akzl*ds)
gsy2={aks*aks-aky*aky)/ (akzl*tms)
gsy3d=aky*aky*akzl* (epsrs-1.0d0)/tes/tms
cghmyy=~cj* (gsyl*gsy2-gsy3)/ (ak0*z0)

————— Piecewise sinusoidal mode -----
fay=2.0d0*aka* (dcos(aka*ha)-dcos({aky*ha))

& / (aky*aky-aka*aka) /dsin(aka*ha)
fOx=2.0d0*ake* (dcos(ake*hf)-dcos (akx*hf))

& / (akx*akx-ake*ake) /dsin(ake*hf)

cal 6, 6)=ca( 6, 6)-cj*fxa*fxa*fay*fay*cghmyy*area

do 104 k=1,ns
xm=(k-1)*hf
xn=stub-(ns-k+1)*hf
ca(n+k,n+l)=ca{n+k,n+l) -cj*pi*fys*fys*f0x*f0x*cgsxx

& *dcos (akx*xm) *area

ca(6,n+k)=ca(6,n+k)+ci*pi*fys*fOx*fxa*fay*gsxy

& *dcos (akx*xn}) *area

continue

tt=tt+tint
continue
print *,’ Integral surface finised(strip side)

continue

'

======= Surface wave resistance (patch side ) =======

if(indp.ne.0) go to 97

tint=0.5d0*pi/it

tt=0.5d0*tint

rr=polep

area=rr*tint

akz3=dsqgrt (akr*akr-rr*rr)

akz2=dsqrt{rr*rr-ak0*ak0)

do 13 j=1,it
akx=rr*dcos({tt)
aky=rr*dsin{tt)
fxa=2.0d0*dsin(0.5d0*akx*wa) / (akx*wa)
fya=2.0d0*dsin(0.5d0*aky*wa) / (aky*wa)
tep=akz3*dcos (akz3*dp)+akz2*dsin(akz3*dp)
tmp=epsrp*rr*dcos (akz3*dp) /akz2+rr/akz3*

& (epsrp*akz2*dp*dsin{akz3*dp)+dcos (akz3*dp)

& +akz3*dp*dcos (akz3*dp))

——————— Green'’s function for slot({x) to slot(x) -------
gpyl=akz3*dcos(akz3*dp) +epsrp*akz2*dsin{akz3*dp)
gpy2= (akr*akr-aky*aky)/ (akz3*tmp)
gpy3=aky*aky*akz3* (epsrp-1.0d40)/tep/tmp
cghmyy=-cj*(gpyl*gpy2-gpy3}/ (ak0*z0)

——————— Green's function for patch{x) to patch(x) -------
fgpl=(akr*akr-akx*akx) *akz2*dcos (akz3*dp)
& - (akO0*ak0-akx*akx) *akz3*dsin(akz3*dp)
cgejxx=-cj*z0*fgpl*dsin(akz3*dp)/ (ak0*tep*tmp)
——————— Green’s function for patch(y) to patch(y) -------
fgp2=(akr*akr-aky*aky) *akz2*dcos (akz3*dp)
& -{ak0*ak0-aky*aky) *akz3*dsin(akz3*dp)
cgejyy=-cj*z0*fgp2*dsin(akz3*dp)/ (akO*tep*tmp)
——————— Green'’s function for patch{x) to patch(y) -------
fgp3=akz2*dcos(akz3*dp)-akz3*dsin(akz3*dp)
cgejxy=cj*akx*aky*z0*fgp3*dsin(akz3+*dp)/ (ak0*tep*tmp)
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595 ¢ :
596 ¢ e——we-=- green’s function for slot(y) to patch(x) --=-----
597 gemxy=-akx*akx* (epsrp-1.0d0) *dsinh(akz3*dp) /tep/tmp
598 ¢ —-----= green’s function for slot(y) to patch{y) =-------
599 gemyy=-akx*aky* (epsrp-1.0d0) *dsinh(akz3*dp)/tep/tmp
600 ¢
601 ¢ ----- Piecewise sinusoidal modes ~----
602 fay=2.0d0*aka* (dcos{aka*ha)-dcos(aky*ha))
603 & / (aky*aky-aka*aka)/dsin{aka*ha)
604 call expansl(rad,btll,rx,tt,bja,pi, fxpll, fypll, fxoll, fyoll)
605 call expansl(rad,btl2,rr,tt,bjc,pi, fxpl2, fypl2, fxol2, fyol2}
606 call expans2(rad,bt2l,rx,tt,bjb,pi, fxp2l, fyp21, fxo2l, fyo21l)
607 call expans3(rad,bt3l,rr,tt,bje,pi, £xp31l, fyp31, fxo031, fyo31l)
608 . call expansd(rad,btd4l,rr,te,bjd, pi, fxp4l, fyp4l, fxodl, fyodl)
609 ¢
610 cgal=fxpll*fxpll*cgejxx+2.0d0*fxpli*fypll*cgejxy
611 & +fypll*fypll*cgedjyy
612 cgal=£fxpl2*fxpl2*cgejxx+2.0d0*fxpl2*fypl2*cgejxy
613 & +fypl2*fypl2*cgejyy
614 cgald=fxpll*fxpl2*cgejxx+(fxpll*fypl2+fxpl2*fypll) *cgejxy
615 & +fypll*fypl2*cgejyy
616 cgbl=£fx021*fx021l*cgejxx+2.0d0*fxo21*fyo2l*cgejxy
617 & +fyo2l*fyo2l*cgejyy
618 cgb2=fxo4l*fxod4l*cgejxx+2.0d0*fxodl*fyodl*cgejxy
619 & +fyodl*fyodl*cgejyy
620 cgb3=fx021*fxodl*cgejxx+(fx021*fyodl+£fxodl*fyo2l) *cgejxy
621 & +fyo21l*fyodl*cgejyy
622 cgcl=£fxp3l*fxp3l*cgejxx+2.0d40*fxp3l*fyp3l*cgeixy
623 & +fyp3l*fyp3l*cgejyy
624 cge2=£fxpll*fxp3l*cgeixx+ (fxpll*fyp3l+£fxp3l*fypll) *cgejxy
625 & +fypll*fyp3l*cgejyy
626 cgel3=£fxp3l*fxpl2*cgejxx+ (fxp3l*fypl2+£fxpl2*£fyp3l) *cgejxy
627 & +fyp3l*fypl2*cgejyy
628 c
629 ca( 1, 1l)=ca( 1, l)+cgal*area
630 ca( 2, 2)=cal( 2, 2)+cga2*area
631 ca( 1, 2)=ca( 1, 2)+cgal3*area
632 ca{ 3, 3)=ca( 3, 3)+cgcl*area
633 ca{ 1, 3)=ca{ 1, 3)+cgcl*area
634 cal{ 2, 3)=ca{ 2, 3)+cgc3*area
635 ca( 4, 4)=ca( 4, 4)+cgbl*area
636 ca{ 5, 5)=ca{ 5, 5)+cgb2*area
637 ca( 4, S)=ca({ 4, 5)+cgb3*area
638 ca( 6, 6)=ca( 6, 6)+fxa*fxa*fay*fay*cghmyy*area
639 ¢
640 ca(l,6)=cal(l,6)-cj*pi*fxa*fay* (gemxy* fxpll+gemyy*fypll)
641 & *dcos (aky*y0) *area
642 ca({2,6)=ca(2,6)-cj*pi*fxa*fay* (gemxy* fxpl2+gemyy*fypl2)
643 & *dcos (aky*y0) *area
644 ca(3,6)=cal(3,6)~-cj*pi*fxa*fay* (gemxy*fxp3l+gemyy*fyp3l)
645 & *dcos{aky*y0) *area
646 ca(d,6)=ca(d,6)+ci*pi*fxa*fay* (gemxy* fxo2l+gemyy*fyo2l)
647 & *dsin(aky*y0) *area
648 ca{5,6)=ca(5,6)+ci*pi*fxa*fay* (gemxy*fxodl+gemyy*fyodl)
649 & *dsin(aky*y0) *area
650 ¢
651 tt=tt+tint
652 13 continue )
653 print *,’ Integral surface(patch) finished’
654 ¢ :
655 97 continue
656 ¢ .
657 ¢ ======= Intgral in the third region (3-1) =====
658 tint=0.5d0*pi/it
659 rint=0.025d0*ak0

660 rr=aks+0.5d0*rint
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661 do 7 i=1,1ir2
662 areasrr*rint*tint
663 tt=0.5d0*tint
664 akzl=dsqgrt(rr*rr-aks*aks)
665 akz3=dsqgrt(rr*rr-akr*akr)
666 akz2=dsqgrt{rr*rr-ak0*ak0)
667 do 8 j=1,1it
668 akx=rr*dcos (tt)
669 aky=rr*dsin(tt)
670 fxa=2.0d40*dsin(0.5d0*akx*wa) / (akx*wa)
671 fya=2.0d40*dsin(0.5d0*aky*wa)/ (aky*wa)
672 fys=2.040*dsin(0.5d0*aky*ws)/ (aky*ws)
673 fxs=2.040*dsin(0.5d0*akx*ws) / {akx*ws)
674 tes=akzl*dcosh{akzl*ds)+akz2*dsinh{akzl*ds)
675 tep=akz3*dcosh(akz3*dp)+akz2*dsinh(akz3*dp)
676 tms=epsrs*akz2*dcosh(akzl*ds)+akzl*dsinh(akzl*ds)
677 tmp=epsrp*akz2*dcosh{akz3*dp)+akz3*dsinh(akz3*dp)
678 c :
679 ¢ -—--- green’s function for strip(x) to strip(x) -----
680 fgsl=(aks*aks-akx*akx)*akz2*dcosh(akzl*ds)
681 +{ak0*akO~-akx*akx) *akzl*dsinh{akzl*ds)
682 cgsxx=-cj*z0*fgsl*dsinh(akzl*ds)/{ak0*tes*tms)
683 ¢ —--—--- green’s function for slot(y) to patch(x) -------
684 fgs2=-akx*akx* (epsrs-1.0d0) *dsinh(akzl*ds)/tes/tms
685 fgsl=-akzl/tes
686 gsxy=£fgs2+£fgs3
687 ¢
688 ¢ @ meem—e- green’s function for slot(y) to slot(y) -------
689 gsyl=akzl*dcosh({akzl*ds)+epsrs*akz2*dsinh(akzl*ds)
690 gsy2={aks*aks-aky*aky)/(akzl*tms)
691 gsy3=aky*aky*akzl?* (epsrs-1.0d0) /tes/tms
692 gpyl=akz3*dcosh({akz3*dp)+epsrp*akz2*dsinh (akz3*dp)
693 gpy2=(akr*akr-aky*aky)/ (akz3*tmp)
694 gpy3=aky*aky*akz3* (epsrp-~1.0d0) /tep/tmp
695 cghmyy=-cj* (gsyl*gsy2~gsy3+gpyl*gpy2-gpy3)/ (ak0*z0)
696 c
697 ¢ —-—-- green’s function for patch(x) to patch(x) -----
698 fgpl=(akr*akr-akx*akx)*akz2*dcosh(akz3*dp)
699 +(ak0*ak0-akx*akx)*akz3*dsinh(akz3*dp)
700 cgejxx=-cj*z0*fgpl*dsinh(akz3*dp)/(ak0*tep*tmp)
701 ¢ =e—e- green’s function for patch(y) to patch(y) -----
702 fgp2={akr*akr-aky*aky)*akz2*dcosh(akz3*dp)
703 +(ak0*ak0-aky*aky)*akz3*dsinh(akz3*dp)
704 cgejyy=-cj*z0*fgp2*dsinh(akz3*dp)/ (ak0*tep*tmp)
705 ¢ ==—=- green’s function for patch({x) to patch(x) -----
706 fgp3=akz2*dcosh(akz3*dp)+akz3*dsinh(akz3*dp)
707 cgejxy=cj*z0*akx*aky*fgp3*dsinh(akz3*dp)/(akO*tep*tmp)
708 c
709 ¢ —-—=-e= green’'s function for slot{y) to patch(x) -------
710 fgpl=-akx*akx* (epsrp~1.0d40)*dsinh(akz3*dp)/tep/tmp
711 fgp2=-akz3/tep
712 gemxy=£fgpl+£fgp2
713 ¢ eee—ee- green’s function for slot{y) to patch(y) -------
714 gemyy=-akx*aky* {epsrp-1.0d0) *dsinh(akz3*dp) /tep/tmp
715 ¢
716 ¢ ~e--- Piecewise sinusoidal modes ~----
717 fay=2.0d0*aka* (dcos (aka*ha)~-dcos (aky*ha) )
718 / (aky*aky-aka*aka) /dsin{aka*ha)
719 f0x=2.0d0*ake* (dcos (ake*hf)-dcos (akx*hf))
720 / (akx*akx-ake*ake) /dsin(ake*hf)
721 call expansl(rad,btll,rr,tt,bja,pi, fxpll, fypll, fxoll, fyoll)
722 call expansl(rad,btl2,rr,tt,bjc,pi, £xpl2, fypl2, fxol2, fyol2)
723 call expans2{rad,bt2l,rr,tt,bjb,pi, fxp2l, fyp21, fx021, fyo2l)
724 call expans3{rad,bt3l,rr,tt,bje,pi, £fxp3l, fyp31l, fxo3l, fyo3l)
725 call expansd(rad,btdl,rr,tt,bjd,pi, fxpdl, fypdl, fxodl, fyodl)
726 C
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106

cgal=fxpll*fxpll*cgejxx+2.0d0*fxpll*fypll*cgejxy

+fypll*fypll*cgejyy

cgal2=fxpl2*fxpl2*cgejxx+2.0d0*fxpl2*fypl2*cgejxy

+fypl2*fypl2*cgejyy

cgald=fxpll*fxpl2*cgejxx+ {(fxpll*fypl2+£fxpl2*fypll) *cgejxy

+fypll*fypl2*cgejyy

cgbl=fx021*fxo02l*cgejxx+2.0d40*fx021*fyo2l*cgejxy

+fyo21*fyo2l*cgejyy

cgb2=fxo41*fxodl*cgejxx+2.0d0*fxo41l*fyodl*cgejxy

+fyodl*fyodl*cgejyy

cgb3= fxo21*fxo4l*cgejxx+(fxo21*fyo4l+fxo4l*fyo2l) cgejxy

+fyo2l*fyodl*cgejyy

cgcl=fxp31l*fxp3l*cgejxx+2.0d0*fxp3l*fyp3l*cgejxy

+fyp3l*fyp3l*cgejyy

cgc2= fxpll*fxpBl*cgejxx+(fxpll*fyp31+fxp31*fyp11)*cgejxy

+fypll*fyp3l*cgejyy

cge3=fxp3l*fxpl2*cgejxx+ (fxp3l*fypl2+£fxpl2*fyp3l) *cgejxy

ca (
ca(
cal
ca(

a

a(
ca(
ca
cal
ca
ca

ca

+fyp3l*fypl2*cgejyy

1)+cgal*area
2)+cga2*area
2)+cgal3*area
3)+cgcl*area
3)+cgc2*area
3)+cgcl*area
4)+cgbl*area
5)+cgb2*area
5)+cgb3*area

1
2
1
3
1
2
4
5
4
6 6)+fxa*fxa*fay*fay*cghmyy*area

,
,
’
,
, 3)Y=cal
,
;
,
.
p

[9%)
il
0
ol
—
BB NRWR N

(1,6)=ca(l,6)+fxa*fay* (gemxy*fxpll+gemyy*fypll)
*dcos (aky*y0) *area

(2,6)=ca(2,6)+fxa*fay* (gemxy*fxpl2+gemyy*fypl2)
*dcos (aky*y0) *area

a(3,6)=ca(3,6)+fxa*fay* (gemxy*fxp3l+gemyy*fyp3l)

*dcos (aky*yQ) *area

a{d,6)=ca(4,6)-fxa*fay* (gemxy*fxo2l+gemyy*fyo2l)

ca

do

*dsin{aky*y0) *area
(5,6)=ca(5,6)-fxa*fay* (gemxy*fxodl+gemyy*fyodl)
*dsin (aky*y0) *area

106 k=1,ns
=(k-1)*hf
xn=stub-(ns-k+1)*hf
ca(n+k,n+l)=ca(n+k,n+l)+fys*fys*f0x*£f0x*cgsxx
*dcos (akx*xm) *area
ca({6,n+k)=ca(6,n+k)-fys*f0x*fxa*fay*gsxy
*dcos (akx*xn) *area

continue

tt=

tt+tint

continue
rr=rr+rint

continue

rinto=rint

print *,

‘Integral 3-1 finished’

======= Integral in the third region (3-2) =======
tint=0.5d0*pi/it
rint=0.06d40*ak0
rr=aks+rinto*ir2+0.5d0*rint

do 9 i=1,

ir3

area=rr*rint*tint
tt=0.5d0*tint
akzl=dsqgrt(rr*rr-aks*aks)
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793 akz3=dsqgrt (rr*rr-akr*akr)
794 akz2=dsqrt{rr*rr-ak0*akQ)
795 do 1C j=1,it
796 akx=rr*dcos(tt)
797 aky=rr*dsin(tt)
798 fxa=2.0d0*dsin(0.5d0*akx*wa)/ (akx*wa)
799 fya=2.0d40*dsin{0.5d0*aky*wa)/ (aky*wa)
800 fys=2.0d0*dsin(0.5d0*aky*ws)/ (aky*ws)
801 fxs=2.0d0*dsin(0.5d0*akx*ws) / (akx*ws)
802 tes=akzl*dcosh(akzl*ds)+akz2*dsinh(akzl*ds)
803 tep=akz3*dcosh{akz3*dp)+akz2*dsinh{akz3*dp)
804 tms=epsrs*akz2*dcosh({akzl*ds)+akzl*dsinh(akzl*ds)
805 tmp=epsrp*akz2*dcosh({akz3*dp) +akz3*dsinh(akz3*dp)
806 ¢
807 ¢ —-===- green’s function for strip(x) to strip(x) -----
808 fgsl=(aks*aks-akx*akx)*akz2*dcosh(akzl*ds)
809 & +(ak0*ak0-akx*akx) *akzl*dsinh (akz1l*ds)
810 cgsxx=-cj*z0*fgsl*dsinh{akzl*ds)/{(akO*tes*tms)
81l ¢ = —------- green’s function for slot{y) to patch(x) -------
812 fgs2=-akx*akx* (epsrs-1.0d0)*dsinh(akzl*ds)/tes/tms
813 fgs3=-akzl/tes
814 gsxy=fgs2+fgs3
815 ¢
816 ¢ @ —-==--- green’s function for slot(y) to slot(y) -------
817 gsyl=akzl*dcosh(akzl*ds)+epsrs*akz2*dsinh(akzl*ds)
818 gsy2=(aks*aks-aky*aky)/ (akzl*tms)
819 gsy3=aky*aky*akzl* (epsrs-1.0d40)/tes/tms
820 gpyl=akz3*dcosh{akz3*dp)+epsrp*akz2*dsinh(akz3*dp)
821 gpy2={akr*akr-aky*aky)/ (akz3*tmp)
822 gpy3=aky*aky*akz3* (epsrp-1.0d40) /tep/tmp
823 cghmyy=-cj* (gsyl*gsy2-gsy3+gpyl*gpy2-gpy3)/{(ak0*z0)
824 c
825 ¢ = --==- green’s function for patch{x) to patch(x) -----
826 fgpl=(akr*akr-akx*akx) *akz2*dcosh(akz3*dp)
827 & +{ak0*ak0-akx*akx) *akz3*dsinh{akz3*dp)
828 cgejxx=-cj*z0*fgpl*dsinh{akz3*dp)/ {ak0*tmp*tep)
829 ¢ --=-- green’s function for patch(y) to patch(y) -----
830 fgp2=(akr*akr-aky*aky) *akz2*dcosh(akz3*dp)
831 & +(ak0*ak0O-aky*aky) *akz3*dsinh{akz3*dp)
832 cgejyy=-cj*z0*fgp2*dsinh{akz3*dp)/ (ak0O*tmp*tep)
833 ¢ @ ====- green’s function for patch({x) to patch(y) -----
834 fgp3=akz2*dcosh({akz3*dp)+akz3*dsinh(akz3*dp)
835 cgejxy=cj*z0*akx*aky*fgp3*dsinh(akz3*dp)/ (ak0O*tmp*tep)
836 ¢
837 ¢ —mme——- green’s function for slot(y) to patch(x) -------
838 fgpl=-akx*akx* (epsrp-1.0d0)*dsinh(akz3*dp)/tep/tmp
839 fgp2=-akz3/tep
840 gemxy=fgpl+fgp2
841 ¢ @ —------ green’s function for slot(y) to patch(y) -------
842 gemyy=-akx*aky* (epsrp-1.0d0) *dsinh(akz3*dp) /tep/tmp
843 ¢
844 ¢ = === Piecewise sinusoidal modes -----
845 fay=2.0d0*aka* (dcos (aka*ha) -dcos (aky*ha))
846 & / (aky*aky-aka*aka)/dsin(aka*ha)
847 f0=2.0d0*ake* (dcos (ake*hf) -dcos (akx*hf))
848 & / (akx*akx~-ake*ake) /dsin(ake*hf)
849 call expansl{rad,btll,rr,tt,bja,pi, fxpll, fypll, fxoll, fyoll)
850 call expansl(rad,btl2,rr,tt,bjc,pi, fxpl2, fypl2, fxol2, fyol2)
851 call expans2(rad,bt2l,rr,tt,bjb,pi, fxp21, fyp2l, fxo021, fyo2l)
852 call expans3(rad,bt3l,rr,tt,bje,pi, fxp3l, fyp3l, fxo31l, fyo3l)
853 call expans4d (rad,btdl,rr,tt,bjd,pi, fxp4l, fyp4l, fxodl, fyo4dl)
854 ¢
855 cgal=fxpll*fxpll*cgejxx+2.0d0*fxpll*fypll*cgejxy
856 & +fypll*fypll*cgejyy
857 cgal=fxpl2*fxpl2*cgejxx+2.0d0*Expl2*fypl2*cgejxy
858 & +fypl2*fypl2*cgejvyy
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859
8360 &
861

906 10 co
907 rr
conti
909 print

923 do 20

cgald=fxpll*fxpl2*cgejxx+(fxpll*fypl2+£fxpl2*£fypll) *cgejxy
+fypll*fypl2*cgejyy

cgbl=£fxo021*fxo02l*cgejxx+2.0d0*fx021*fyo2l-cgejxy
+fyo2l*fyo2l*cgejyy

cgb2=fxo0dl*fxodl*cgejxx+2.0d0*£fxo041l*fyodl*cgejxy

+fyodl*fyodl*cgejyy

cgb3=fxo02l*fxodl*cgejxx+(fx021*fyodl+fxodi*fyo2l) *cgejxy
+fyo2l*fyodl*cgejyy

cgcl=£fxp3l*fxp3l*cgejxx+2.0d0*fxp3l*fypl3i~cgejxy
+fyp3l*fyp3l*cgejyy

cgc2=fxpll*fxp3lrcgejxx+ (fxpll*fyp31l+fxp31~£fypll) *cgejxy
+fypll*fyp3l*cgejyy

cgc3=£fxp3l*fxpl2*cgejxx+ (fxp3l*fypl2+£fxpl2*fyp3l) *cgejxy
+fyp3l*fypl2*cgejyy

ca{ 1, l)y=ca( 1, l)+cgal*area

cal 2, 2)=ca( 2, 2)+cga2*area

ca( 1, 2)=ca( 1, 2)+cga3*area

ca( 3, 3)=ca( 3, 3)+cgcl*area

ca( 1, 3)=ca( 1, 3)+cgc2*area

ca{ 2, 3)=cal( 2, 3)+cgc3*area

ca( 4, 4)=cal( 4, 4)+cgbl*area

ca{ 5, S5)=ca( 5, 5)+cgb2*area

ca( 4, 5)=ca( 4, 5)+cgb3*area

ca( 6, 6)=cal( 6, 6)+fxa*fxa*fay*fay*cghmyy*area

ca(l,6)=ca(l,6)+fxa*fay* (gemxy*fxpll+gemyyv*fypll)
*dcos {aky*yQ) *area

ca(2,6)=ca(2,6)+fxa*fay* (gemxy*fxpl2+gemyy*£fypl2)
*dcos (aky*y0) *area

ca(3,6)=cal(3,6)+fxa*fay* (gemxy* fxp3l+gemyy*fyp31)
*dcos {aky*yQ) *area

ca(d4,6)=ca(4,6)-fxa*fay* (gemxy*fxo2l+gemyy*£fyo2l)
*dsin(aky*y0) *area

ca(5,6)=ca(5,6)-fxa*fay* (gemxy*fxodl+gemyy*fyodl)
*dsin (aky*yQ) *area

do 107 k=1,ns
xm=(k-1)*hf
xn=stub-{ns-k+1) *hf
ca{n+k,n+l)=ca(n+k,n+1)+fys*fys*£0*£f0*cgsxx
*dcos (akx*xm) *area
ca(6,n+k)=ca(6,n+k)-fys*f0*fxa*fay*gsxy
*dcos (akx*xn) *area
continue

tt=tt+tint
ntinue
=rr+rint
nue
* *'All integral finished.’

matrix construction =====
y=cal(l,?2)
)=cal(l,3)
y=ca(2,3)
y=ca{4,5)

>N

i=2,ns

ca(n+i,n+i)=ca(n+1l,n+l)
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925 do 21 i=1,ns-1
926 do 22 j=1,ns-1
927 ca(n+i+j,n+j)=ca(n+i+l,n+l)
- 928 ca{n+j,n+i+j}l=ca(n+i+l,n+1)
929 22 continue
930 21 continue
931 do 23 i=1,ns
932 ca(n+i,6)=-ca(6,n+i)
933 23 continue
934 ¢
935 chb(n+l)={1.0d40,0.0d40)
936 ¢
937 call tledc{mm,ca,cb,cc,nn,eps, ind)
938 ¢
939 write(6,*) 'Freq.[GHz] = ', fre
940 write(6,*) =
941 do 31 i=1,n
942 31 write(6,*) mode(i),cc{i)
943 ¢
944 amax=0.0d0
945 amin=1.04d0
946 ss=-3*hf
947 do 40 i=n+3,ns+n
948 xm=stub- {ns-(i-n)+1)*hf
949 if{xm.gt.ss) go to 201
950 do 43 3=0,39
951 s=0.025d0*j
952 cjx=cc (i) *dsin(ake*hf*{(1l-s))/dsin{ake*hf)
953 +cc(i+l)*dsin(ake*hf*s)/dsin(ake*hf)
954 acc=cdabs (cjx)
955 if{acc.gt.amax) then
956 amax=acc
957 else if(acc.lt.amin) then
958 amin=acc
959 xmin=xm+hf*s
960 endif
961 43 continue
962 40 continue
963 201 continue
964 ¢
965 vswr=amax/amin
966 write(6,*) 'VSWR = ’, vswr
967 agm=(vswr-1.0d0) / (vswr+1.0d0)
968 agmd=-20.0d0*dlogl0 (agm)
969 write (6, *) 'Return Loss{dB)=',agmd
970 dst=-xmin
971 phi=2.0d0*ake*dst
972 cgm=agm*cdexp (cj*phi)
973 cz2=(1.0d0+cgm)}/ {1.0d40-cgm)
974 write(6,*) ' S11 = ‘,cgm
975 write(6,*) ' Zin {norm. by 50 ohm) = ', cz2
976 ¢
977 stop
978 end
979 ¢
980 ¢
981 c IR R R R R R R R R R R R R SRS SRR R R EE S RERE SRR R SRR
982 ¢ * Subroutine: swave *
983 ¢ * Finding of the TMO surface wave mode *
984 ¢ * pole, using Newton Lapson Method. *
985 c IR E R E R R R R R R R R R RN R R R R R RN R RN
986 ¢
987 subroutine swave (epsr,ak0,d,pole,ind)
988 double precision epsr,ak0,d,pole,x0,aks,akzl,akz2, f,df,aa
989 ¢
990 x0=1.00001d0*ak0
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991 aks=dsgrt (epsx) *ak0
992 do 100 i=1,200
993 akzl=dsgrt{aks*aks-x0*x0)
994 akz2=dsqrt (x0*x0~ak0*ak0)
995 f=epsr*akz2*dcos (akzl*d)-akzl*dsin{akzl1*d)
996 di=epsr*dcos (akzl1*d)*x0/akz2
997 & +epsr*akz2*d*dsin(akzl*d) *x0/akzl
998 & +x0*dsin(akzl*d) /akzl+x0*d*dcos (akzl*d)
999 aa=dabs (£/df)
1000 if{aa.lt.1.0d-4) go to 102
1001 x0=x0-£/df
1002 if(x0.1lt.ak0.0or.x0.gt.aks) go to 101
1003 100 continue
1004 ind=-1
1005 return
1006 102 pole=x0
1007 ind=0
1008 return
1009 101 ind=1
1010 return
1011 end
1012 ¢
1013 c IEEREEREEREEEERREEEEEESEEERREEEEREEESEESEEESRSEERSESESS
1014 ¢ subroutine: expans1l *
1015 ¢ Expansion mode on the circular patch *
1016 ¢ { dominant ™11 mode ) *
1017 c Ak khkkhkd X I Ihkkkhkhkkhkhkhhkhkdkhkhkbdkhdkkhkdhkkdhrdkkxkhx
1018 subroutine expansl(rad,betall,beta,alfa,besja,pi, fxpll, fypll,
1019 & fxoll, fyoll)
1020 implicit double precision {(a,b,d-h,o-y)
1021 dimension zbes (0:5)
1022 =4
1023 zbeta=sngl (beta*rad)
1024 ¢
1025 call besjt(zbeta, zbes,mm, ind)
1026 fal=0.5d0*dble(zbes (0)~-zbes(2))*betall*betall
1027 & /{betall*betall-beta*beta)
1028 fa2=dble(zbes (1)) /beta/rad
1029 fxl=fal*dcos(alfa)*dcos(alfa)+fa2*dsin(alfa)*dsin(alfa)
1030 fx2=fal*dsin(alfa)*dcos(alfa)-fa2*dcos(alfa)*dsin(alfa)
1031 ix3=fal*dsin(alfa)*dcos{alfa)-fa2*dcos{alfa)*dsin(alfa)
1032 fx4=fal*dsin(alfa)*dsin(alfa)+fa2*dcos(alfa)*dcos(alfa)
1033 fxpll=2.0d0*pi*rad*besja*fxl
1034 fypll=2.0d0*pi*rad*besja*fx2
1035 fx0l1=2.0d40*pi*rad*besja*fx3
1036 fyoll=2.0d0*pi*rad*besja*£fx4
1037 return
1038 end
1039 ¢
1040 c IR R E R SRS EEEEEEEEREESEESEESEEEEERZEESESEESEERESSE.]
1041 ¢ subroutine: expans?22 *
1042 ¢ Expansion mode on the circular patch *
1043 ¢ { TM21 mode ) *
1044 c LR R R R R R R R R R E R R R RS RN EEEE R EREEEEEEEEEE R EEEET
1045 subroutine expans2{rad,beta2l,beta,alfa,besjb,pi,
1046 & fxp21, fyp21l, £x021, fyo21)
1047 implicit double precision (a,b,d-h,o-y)
1048 dimension zbes2(0:6)
1049 mm=5
1050 zbeta=sngl (beta*rad)
1051 ¢
1052 call besjt(zbeta, zbes2,mm, ind)
1053 fal=0.5d0*dble(zbes2(1)-zbes2(3)) *beta2l*beta2l
1054 & / {beta2l*betaZ2l-beta*beta)
1055 fa2=2.0d0*dble(zbes2(2))/beta/rad
1056 ixl=fal*dcos(alfa)*dcos(2*alfa)+fa2*dsin(alfa)*dsin(2*alfa)
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1057 fx2=fal*dsin(alfa)*dcos(2*alfa)-fa2*dcos(alfa)*dsin(2*alfa)
1058 fx3=fal*dcos(alfa)*dsin(2*alfa)-fa2*dsin{alfa) *dcos(2*alfa)
1059 fx4=fal*dsin(alfa) *dsin(2*alfa)+fa2*dcos{alfa)*dcos(2*alfa)
1060 fxp21=2.0d0*pi*rad*besjb*£fxl

1061 fyp21=2.040*pi*rad*besjb*fx2

1062 fx021=2,0d0*pi*rad*besib*fx3 -
1063 fyo21=2.040*pi*rad*besjb*fx4

1064 return j
1065 end !
1066 ¢ :
1067 c I R R R R R E E R E EEE R R R R R RS SRR EEESEEEEREEESEE SRR ~
1068 c * subroutine: expans3 *

1069 ¢ * Expansion mode on the circular patch *

1070 ¢ * ( T™™31 mode ) *

1071 c I R R R E R E R R R R R EE R E RS RS E R EREEEREEREEREENESSEEXR]

1072 subroutine expans3(rad,beta3l,beta,alfa,besjb,pi,

1073 & fxp3l, fyp3l, fxo031, fyo3l)

1074 implicit double precision (a,b,d-h,o-y)

1075 dimension zbes2(0:6)

1076 mm=>5

1077 zbeta=sngl (beta*rad)

1078 ¢

1079 call besijt(zbeta,zbes2,mm, ind)

1080 fal=0.5d0*dble(zbes2(2)-zbes2(4)) *betal3l*betal3l

1081 & / (beta3l*betal3l-beta*beta)

1082 fa2=3.040*dble(zbes2(3})/beta/rad

1083 fxl=fal*dcos({alfa)*dcos(3*alfa)+fa2*dsin(alfa)*dsin(3*alfa)
1084 fx2=fal*dsin{alfa)*dcos(3*alfa)-fa2*dcos({alfa)*dsin{3*alfa)
1085 fx3=fal*dcos{alfa)*dsin(3*alfa)-fa2*dsin(alfa)*dcos(3*alfa)
1086 fx4=fal*dsin(alfa)*dsin(3*alfa)+fa2*dcos{alfa)*dcos(3*alfa)
1087 fxp31l=-2.0d0*pi*rad*besjb*fx1l

1088 fyp31=-2.0d0*pi*rad*besjb*fx2

1089 fx031=~2.0d0*pi*rad*besjb*£fx3

1090 fyo31l=-2.0d40*pi*rad*besjb*fx4

1091 return

1092 end

1093 ¢

1094 c I R EEEE R E R R R R R R R SR E R RS R SR EEREEESEREREEEE SR

1095 ¢ * subroutine: expans?2 *

1096 ¢ * Expansion mode on the circular patch *

1097 ¢ * ( T™M41 mode ) *

1098 c R R R SR E R E R E R R E RS RS EEEE R EE R REEEREEEREEEEEEREEN

1099 subroutine expansd(rad,beta4l,beta,alfa,besid,pi,

1100 & fxp4dl, fyp4l,fxodl, fyodl)

1101 implicit double precision (a,b.,d-h,o-y)

1102 dimension zbes2(0:10)

1103 mm=9

1104 zbeta=sngl (beta*rad)

1105 ¢

1106 call besjt(zbeta,zbes2,mm, ind)

1107 fal=0.5d0*dble (zbes2(3)-zbes2(5) ) *betadl*betadl

1108 & /(betad4l*betadl-beta*beta)

1109 fa2=4.0d0*dble(zbes2({4)) /beta/rad

1110 fxl=fal*dcos{alfa)*dcos(4*alfa)+fa2*dsin{alfa)*dsin({4*alfa)
1111 fx2=fal*dsin(alfa)*dcos(4*alfa)-fa2*dcos(alfa)*dsin(4*alfa)
1112 fx3=fal*dcos({alfa)*dsin(4*alfa)~fa2*dsin(alfa)*dcos({4*alfa)
1113 fx4=fal*dsin(alfa)*dsin(4*alfa)+fa2*dcos(alfa)*dcos(4*alfa)
1114 fxpdl=-2.040*pi*rad*besjd*fx1l .

1115 fypdl=-2.040*pi*rad*besjd*£x2

1116 fx041=-2.0d0*pi*rad*besjd*£x3

1117 fyo4l=-2.0d40*pi*rad*besjd*fx4

1118 return @
1119 end
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B E S JT : subroutine header
First kind Bessel function table
( single precision )
by YASUSHI MURAKAMI

DATE 1992.3.10

subroutine besjt(x,besjn,nn, ind)

double precision ja0,jal,ja2,ja3,ja4d,ja5,ja6,ja7,
& c0,cl,c2,¢3,c4,c5, k0,k1,k2,k3,k4,k5,

& ajo0,ajl,aj2,aj3,aj4,aj5,aj6,aj?,acl,acl,ac2,ac3,ac4,
& ach,ak0,akl,ak2,ak3,aks, akb

dimension besjn(0:nn+l)

—————— data for 0th order Bessel function -------
data aj0,ajl,aj2,aj3,aj4,aj5,aj6,aj’7

& / 1.00000 000040 , -3.99999 987240 , 3.99999 730240,
& -1.77775 606040, .44435 8426340, -.07092 53492d0,
& .00767 7185340, -.00001 14411530/
data ac0,acl,ac2,ac3,ac4,acs
& / .39884 2279340 , ~-.00175 3062040 , .00017 3430040,
& -.00004 8761340 , ..00001 7356540 ,-.00000 3704340/
data ak0,akl,ak2,ak3,ak4,aks
& / -.01246 6994440 , .00045 6432440 , -.00008 6979140,
& .00003 4246840 , -.00001 4207840 , .00000 3231240/

——————— data for lst order Bessel function -------
data ja0,jal,ja2,ja3,jad,ja5,ja6,ja’

& / 2.00000 0000040 , -3.99999 9971040 , 2.66666 605440,
& -.88888 3964940 , .17775 8292240 , .02366 1677340,
& .00220 6915540 , -.00012 8976940/

data c0,cl,c2,c3,c4,c5

& / .39894 2281940 , .00292 1825640 , -.00022 3203040,
& .00005 8075940 , -.00002 Q092040 , .00000 4241440/
data kO,k1l,k2,k3,k4,k5

& / .03740 0836440 , -~.00063 9040040 , .00010 6474140,
& -.00003 9870840 , .00001 6220040 , -.00000 3659440/
y=abs (x)

yd=y*y/16.0

if(x.eq.0.0) go to 10

if(y.ge.4.0) go to 11

besin(0)=ajO+yd* (ajl+yd*(aj2+y4*(ajld+yd* (ajd+yd* (ajS+yd*

& (aj6+yd*aj7))))))
besjn(l)=(ja0+yd* (Jal+yd* (ja2+yd* (Jald+yd* (jad+yd* (jaS+yd*
& (ja6+y4*3a7))}))))*0.25*x

go to 12

besjn{0)=1.0

besjn(1)=0.0

return

xd4=1.0/vy4

pO=ac0+x4* (acl+x4d* (ac2+x4* (ac3+x4d* (acd+xd*acS5))))
q0=4.0*(ak0+x4d* (akl+x4d* (ak2+xd* (ak3+xd* (akd+xd*ak5)))))/y

wl=cos( y - 0.78539 8163440)
z0=sin( y - 0.78539 81634d0)
sx=2.0/sqrt(y)

besjn(0)=sx* (p0*w0-g0*z0)

pPl=cO+xd* (cl+x4* (c2+x4* (c3+x4* (cd+x4*c5))))

qgl=4.0* (kO+x4* {kl+x4* (k2+x4* (k3+x4* (kd+x4*k5)})))/y
wl=cos{ ¥y - 2.35619 4490d40)

zl=sin( y - 2.35619 449040)

sx=2.0/sqgrt(y)
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67 besjn(l)=sx* {pl*wl-gl*zl)
68 1f(x.1t.0.0) besjn(l)=-besjn(l)
69 ¢
70 12 continue
71 if(nn.1lt.1l) return
72 ¢
73 ¢ ———==-- ZEN_KA SHI_KI -=====-
74 do 20 1i=2,nn
75 besjn{i)=2.0*(1i-1)*besjn(i-1) /x-besjn{i-2)
76 20 continue
77 ¢
78 return
79 end
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1l c T T e
2 c = LIBRARY HEADER : TLEDC.F =
3 ¢ = linear equation : elimination =
4 ¢ = ( double precision complex ) =
S C = =
6 c = programmed by Yasushi Murakami =
7 ¢ = DATE : 19%2. 3. 11 =
8 ¢ oo EMCCCoSETCSCo-CoSSCSCCTCCSCSSESCoSSSSSSSS
9 ¢

10 subroutine tledc(n,a,b,x,nn,e,inder)

11 ¢

12 ¢ Linear equation A * X = B

13 ¢ n: to be considered, nn: definition matrix size
14 ¢

15 double complex a,b,x,pmax,aa, f,work

16 double precision piv,pivw,e,eps

17 dimension a{nn,n),b{n),x{(n)

18 ¢

19 inder=0

20 nml=n-1

21 if(nml) 40,41,42

22 40 inder = -1000

23 write({6,640) n

24 640 format(lhO, ' N =’',1i5,’ N should be positive in TLEDC’)

25 return

26 41 if(a{l,1).eq.{(0.0d40,0.0d40)) go to 21

27 x{1l)=b(1l)/a(l,1)

28 return

29 42 if(n.le.nn) go to 43

30 inder= -1001

31 write(6,642) n,nn

32 642 format(lhO,’ N =',15,’ NN =’,15,’ NN should be less than N’)

33 return

34 43 piv=0.040

35 do 1 i=1,n

36 do 1 j=1,n

37 if(cdabs{a(i,j)).le.piv) go to 1

38 piv=cdabs(a(i,j))

39 1=1

40 m=j

41 1 continue

42 if(piv.eqg.0.0d0) go to 21

43 eps=e*piv

44 do 2 k=1,nml

45 kk=k+1

46 x(k)=dcmplx {(float (m}),0.040)

47 if(k.eqg.1l) go to 4

48 do 3 j=k,n

49 work=a(k, )

50 a(k,j)=a(l,3)

51 3 a(l,j)=work

52 work=Db (k)

53 b(k)=b(1l)

54 b(l)=work

55 4 if(k.eg.m) go to 6

56 do 5 i=1l,n

57 work=a (i, k)

58 a{i,k)=a(i,m)

59 5 a(i,m)=work

60 6 pmax=(1.0d0,0.0d0)/a(k, k)

61 piv=0.040

62 do 7 i=kk,n

63 aa=a(i, k) *pmax

64 do 8 j=kk,n

65 a{i,j)=al{i,j)~alk,j) *aa

66 pivw=cdabs(a{i, j})

51




(Mar 15 1995 18:32:52 tledc.f Page 21

67
68
69

22

20

21

25

610

611

10

16

13

17
14

30

if (pivw.le.piv) go to 8
piv=pivw
m=7J
1=1
continue
b(i)=b(i)-b(k)*aa
if(piv.le.eps) go to 22
continue
go to 10
do 20 i=kk.,n -
if(cdabs(b(i)).gt.eps) go to 25 !
b(1)=(0.0d40,0.040)
x(1i)=dcmplx{float (i), 0.0d0)
inder=n-xk+1
write(6.310) k
l=n-k+2
b(k)=b(k)/alk, k)
if(k.eg.1l) go to 15
go to 16
k=0
kk=1
inder=-(n-kk+1)
write(6,611) k
return
format (lh ,’Ill conditioned.Rank=‘,1i5, 'Solution = X+A*Y')
format(1lh ,’Il11 conditioned.Rank=’,1i5, ‘No further calculation’)

BTSN

b(n)=b{n)/a{n,n)
1=2
do 11 ii=1,n
i=n+1-ii
f=b (i)
iml=1i+1
do 12 j=iml,n
f=f-a(i,j)*b(7)
b{i)=f/a(i,i)
do 13 ii=2,n
i=n+1~ii
m=real {x (1))
work=b (i)
b(i)=b(m)
b(m)=work
continue
if(inder.ne.0) go to 30
do 14 i=1,n
x{(1)=b(i)
return
do 50 j=kk,n
do 52 ii=1,k
i=k-ii+1l
f=a(i,3)
iml=i+1
if(ii.eqg.1l) go to 52
do 51 m=iml,k
f=f+a(i,m)*a{m, j)
a(i,jy=-f/a(i,1)
continue
do 31 i=1,n
do 32 j=1.n
if{i.ge.kk.or.j.1lt.kk) a(i,j)=(0.040,0.040)
if(i.ge.kk) a{i,1)=(1.0d40,0.040)
m=real {x(k))
if (m.eq.k) go to 35
do 34 1=kk,n
work=a(k, i)
alk,i)=a(m, 1)

R
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133 34 alm, i)=work

134 35 k=k-1

135 if{k.ne.0) go to 33
136 go to 17

137 end

53



	001
	002
	003



